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QUESTION 1

What are two advantages of creating small RAID groups inside an aggregate? (Choose two.) 

A. maximized storage space 

B. decreased risk of multiple disk failure 

C. shorter reconstruction time 

D. additional available spare drives 

Correct Answer: BC 

Reference: https://library.netapp.com/ecmdocs/ECMM1277794/html/smg/GUID-
EE30CDA9-095F-4DD19A29-BB9F0E55DB4F.html 

 

QUESTION 2

Which three privileges are available to the vsadmin role? (Choose three.) 

A. configuring protocols 

B. managing volumes, except volume moves 

C. setting physical port speeds 

D. managing LUNs 

E. managing aggregates, except aggregate relocate 

Correct Answer: ABD 

Reference: https://library.netapp.com/ecmdocs/ECMP1368701/html/GUID-FFE11F8C-490B-4D6D-
A18E3488275029C7.html 

 

QUESTION 3

Two 100 GB space-reserved LUNs and one 100 GB non-space-reserved LUN were created in System 

Manager in a 1 TB volume. 

In this scenario, how much space has been allocated for writes to the three LUNs? 

A. 1 TB 

B. 300 GB 

C. 100 GB 

D. 200 GB 
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Correct Answer: D 

Reference: http://ppbwiki.rz-berlin.mpg.de/uploads/Intern.NetApp/semg.pdf 

 

QUESTION 4

What are three reasons to implement FabricPool? (Choose three.) 

A. to shrink secondary storage 

B. to implement storage efficiency features 

C. to move volumes to external capacity tiers 

D. to use the volume backup feature 

E. to reclaim space on primary storage 

Correct Answer: ABE 

Reference: https://www.netapp.com/us/media/tr-4598.pdf 

 

QUESTION 5

You must expand an existing FAS8200 switchless cluster to a switched cluster and add a new FAS8200 

HA pair in the cluster. 

In this scenario, which three actions would you perform to expand the cluster? (Choose three.) 

A. Ensure that the switchless-cluster network option is false. 

B. Connect the existing nodes to the cluster switches. 

C. Change the cluster ports for the existing HA pair. 

D. Ensure that the switchless-cluster network option is true. 

E. Join the new HA pair to the cluster. 

Correct Answer: ABE 
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